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L= 33,201,900
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2 3,888,000
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OSAHHEHNSAMLAMAR ST HAL M ALE 5,000
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= 6,030,000

ACRDIS BT (A E) 1,064,900 2,548,000 A 1,483,100
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= 4,615,000

01 HXISHR 2L X 40,588,000 18,606,000 21,982,000
OSSHAMNSE HH (5&) 40,588,000
= 35,973,000
< 4,615,000

SCHATHXNBSE N (AES) 3,780,000 9,800,000 £6,020,000
Z 3,080,000
[ 700,000

403 XHXI ST S AHR 0| & 3,780,000 9,800,000 £6,020,000
2 3,080,000
= 700,000

|
no
|




SN

HH: 2ICHAE=ENsHED IS AE (SN LA/ =Y - sE)
e DIcHESHENS MY (et =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2

01 AtXIEH X =22 X 3,780,000 9,800,000 26,020,000
OSHAMNS S (AES) 3,780,000
e 3,080,000
= 700,000

AAOISZELTHNE (M) 3,584,000 3,705,000 A 121,000
= 3,178,000
L= 406,000

403 XXM S X201 & 3,584,000 3,705,000 A 121,000
2 3,178,000
& 406,000
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OHZBEUX XM (A 721,000
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& 45,000
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= 2,230,000
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403 XHXIEHRI S X 0] 1,000,000 1,000,000 0
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01 At 2teltl 2,000 2,000 0
Y Bt=~=ZH| 2,000
OsgIIEt=dAEN=E RS 2,000

202 44| 8,500 8,500 0

01 SLHA b 8,500 8,500 0
O=sglgt 28 A RFE I 8,500

203 2 F2lb| 5,000 5,000 0

03 Al =X 25| 5,000 5,000 0
OsEHggRFA 5,000

303 La3 600 600 0

01 &3 600 600 0
BB EFESEE-EL PPN 600
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403 XXX S K201 M 7,000,000 7,000,000 0

01 "X SN A=2E X 7,000,000 7,000,000 0
CIXHOH Ol & == ==l Al & E I 7,000,000

SHE L 2T FH| 202,000 183,000 19,000

403 XIS AH201 A 202,000 183,000 19,000

01 X SHHK=2EE 202,000 183,000 19,000
23 == ZH| 202,000
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OFs2d 40,8302 x1H %52 2,124
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OABHSERUHIS 4,500
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OsENLIRFRZ A 7,000
202 O4H| 8,000 9,000 A 1,000
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